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0000000000000 00000000D0000n000D00OO0AQDOOODBOO$B[I] = Alil

+ B[i-1]$

000 $B[1] = A[1]; B[2] = A[1] + A[2]; B[3] = A[1] + A[2] + A[3];$ ......

0000000000000 00000000D000000OCHD$Cl]=Alil-Ali-11$0000

e C[1] = A[1]
e C[2] = A[2] - A[1]
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e C[3] = A[3] - Al2]

e C[i] = Ali] - A[i-1]
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C[l] += val;
C[r+l1l] -= val;
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int lowbit(int x){return x & (-x);}

O00OxO00D0OO0000000000710000000120000 0 11000owbit012[] = 4[]
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e C[1] = A[1];

 C[2] = A[1] + A[2];

 C[3] = A[3];

e C[4] = A[1] + Al2] + A[3] + Al4];

* C[5] = A[5];

e C[6] = A[5] + A[6];

 C[7] = A[7];

e C[8] = A[1] + A[2] + A[3] + A[4] + A[5] + A[6] + A[7] + A[8];
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0000000000 $CH] = Al$i-27k+1$] + A[$i-27k+2$] + \ldots + A[i]$ — kO iDOOODOO0O
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000000000 $$\sum {i =1}"{7} Alil= C[7] + C[6] + C[4];$$
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int getsum(int x){/0000 1-x
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int ans
X
ans clx
X lowbit (x

ans
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void update(int x, int val){/0000,000000

X n
clx val
X lowbit (x
int i i n i
scanf("%sd" tmp

update(i, tmp

gobooobbooobbooobo+bboon

00000+0000000AO0DC00O0O0O0O0O0O0OOOO0O
update(i, tmp - last);
O00o0o(x,y, vahd

update(x, val);
update(y + 1, -val);
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$\sum_{i = 1}~ {n} Ali] = (C[1]) + (C[1]+C[2]) + \ldots + (C[1]+C[2]+\Idots+C[n])$

$= n*C[1] + (n-1)*C[2] +\Idots +C[n]$

$=n* (C[1]+C[2]+\Idots+C[n]) - (O*C[1]+1*C[2]+\Idots+(n-1)*C[n])$

ooooooods$s\ssum {i=1}"{n} Alil] =n*\sum _{i=1}"{n} C[i] -\sum_{i = 1}~ {n}( C[i] *

(i-1) )$$

0000000000000 000DOC000DOoo000ooDooOooooogssumlfi]l =

ClilsO$sum2[i] = C[i] * (i-1)$
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#include<bits/stdc++.h>

#define manespace namespace
using manespace std;//[] [1 [ []

int suml
int n, m

sum?2

int lowbit(int x

void update(int x
int tmp = X

X n

suml|x val

sum2 [ x val

X lowbit (x

int getsum(int x
int ans tmp = X
X
ans tmp
X lowbit (x

ans
int main

scanf ("%d%d" n m
int tmp, last

int i i n

scanf("%d" tmp
update(i, tmp
last tmp

int op, X, vy, z
m
scanf("%d" op
op
scanf ("%
update(x, z
update(y

scanf ("%d %d"
printf("%sd\n"

X

int val

suml|x

tmp

sum2 | x

last

%d %d" X, &y z

X, oy

getsum(y getsum(x
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